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Geometry - Chapter 4 Review (Part 1)

Identify each statement as true (T) or false (F). For many of the problems, it would help (but not necessary) to
make a drawing or to do a counterexample.

1) A quadrilateral is a triangle with all the sides equal in measure
2) The base angles of an isosceles triangle are supplementary.
3) [Ifatriangle has two angles of equal measure, then the third angle is acute.

4)  The abbreviation CPCTC stands for the phrase "corresponding parts of constructed
triangles are concurrent."

5) If AGYM is congruent to ARAT , then GY is congruent to TR.

6) If the base angles of an isosceles triangle each measure 48°, then the vertex angle
has a measure of 132°.

7)  The sum of the measures of the three angles of an obtuse triangle is greater than
the sum of the measures of the three angles of an acute triangle.

8) If atriangle has two angles of equal measure, then the triangle is equilateral.

9) An equilateral triangle is never an equiangular triangle.

ASAT = AGRE. Complete each congruence statement.
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From the information given, determine, which triangles, if any, are congruent. Afterwards, state the congruence
postulate that supports the congruence statement. If the triangles cannot be shown to be congruent from the
information given, write “Cannot be determined” or simply “CBD.”
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Name a pair of overlapping congruent triangles in each diagram. State whether the triangles are congruent by
SSS, SAS, ASA, AAS, or HL.
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Find the value of the variable.
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45) Find each lettered angle measure in the diagram below.

&y 114, 11 45
/s

Y

Y

a= €= 1= n=
b= f=_ k= p=__
c=__ g=____ l=__ q=__

Y



